	PROJECT: Kaumualii Highway Emergency Repairs and Slope Stabilization at Various Locations ROJECT NO.: HWY-K-06-07										
ISLAND: Kauai DISTRICTS: Lihue and Koloa  DATE ADVERTISED: Internet Posting - May 30, 2007  BIDS OPENED: June 21, 2007  COMPLETION TIME: One Hundred Eighty (180) Calendar Days		** NOTE: Quantities shown in this column are for in- house use only.		PROMETHEUS CONSTRUCTION		EARTHWORKS PACIFIC, INC.		GOODFELLOW BROS., INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	EM NO. ITEM		UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	MILEPOST 0.45 (RICE STREET)					e consession de la cons					
201.1000	Clearing and Grubbing	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$35,000.00	L.S.	\$45,000.00	L.S.	\$40,000.00
203.1000	Roadway Excavation	90 Cu. Yd.	Cu. Yd.	\$500.00	\$45,000.00	\$200.00	\$18,000.00	\$550.00	\$49,500.00	\$225.00	\$20,250.00
208.1000	Leveling Surfaces	F.A.	F.A.	F.A.	\$32,000.00	F.A.	\$32,000.00	F.A.	\$32,000.00	F.A.	\$32,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$30,000.00	L.S.	\$38,000.00	L.S.	\$8,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00
629.1000	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	20 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$16,000.00	L.S.	\$6,600.00	L.S.	\$80.00
629.2000	Double 4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	600 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$9,000.00	L.S.	\$6,500.00	L.S.	\$6,000.00
629.3000	8-Inch Wide Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	600 L.F.	L.S.	L.S.	\$1,000.00	L.S.	\$1,000.00	L.S.	\$1,800.00	L.S.	\$4,800.00
629.4000	Type C Raised Pavement Marker	30 Each	L.S.	L.S.	\$5,000.00	L.S.	\$1,000.00	L.S.	\$900.00	L.S.	\$450.00
629.5000	Type D Raised Pavement Marker	31 Each	L.S.	L.S.	\$5,000.00	L.S.	\$1,000.00	L.S.	\$900.00	L.S.	\$465.00
641.1000	Hydro-Mulch Seeding	8,080 Sq. Ft.	L.S.	L.S.	\$10,000.00	L.S.	\$13,000.00	L.S.	\$14,000.00	L.S.	\$12,120.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$15,000.00	L.S.	\$30,000.00	L.S.	\$295,500.00	L.S.	\$45,000.00
645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	\$22,500.00	F.A.	\$22,500.00	F.A.	\$22,500.00	F.A.	\$22,500.00
										Sheet No.	1 of 9 Sheets

PROJECT:	Kaumualii Highway Emergency Repairs and Slope Stabiliza	ition at Various	Locations								
PROJECT N	O.: HWY-K-06-07									STATE	
ISLAND: Ka		** NOTE: Quantities shown in		PROMETHEUS CONSTRUCTION		EARTHWORKS PACIFIC, INC.		GOODFELI	LOW BROS., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
	DATE ADVERTISED: Internet Posting - May 30, 2007 BIDS OPENED: June 21, 2007										
COMPLETIC	ON TIME: One Hundred Eighty (180) Calendar Days	house use only.									
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
648.1000	Field Posted Drawings	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$2,500.00	L.S.	\$3,000.00
659.1000	Erosion Control Mat	8080 Sq. Ft.	Sq. Ft.	\$6.00	\$48,480.00	\$8.00	\$64,640.00	\$12.00	\$96,960.00	\$4.00	\$32,320.00
659.2000	Earth Anchors for Erosion Control Mat (4' Long)	760 Sq. Ft.	Each	\$100.00	\$76,000.00	\$110.00	\$83,600.00	\$236.00	\$179,360.00	\$65.00	\$49,400.00
671.1000	Rock Slope Scaling	F.A.	F.A.	F.A.	\$36,000.00	F.A.	\$36,000.00	F.A.	\$36,000.00	F.A.	\$36,000.00
671.2000	Additional Scaling Cost	L.S.	L.S.	L.S.	\$36,000.00	L.S.	\$40,000.00	L.S.	\$83,000.00	L.S.	\$12,000.00
694.1000	Portable Concrete Barrier	16 Each	Each	\$8,000.00	\$128,000.00	\$2,000.00	\$32,000.00	\$4,200.00	\$67,200.00	\$3,000.00	\$48,000.00
694.2000	Inertial Barrier System	1 Each	Each	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$40,000.00	L.S.	* \$38,424.00	L.S.	\$70,000.00	L.S.	\$22,189.00
	SUM OF ALL ITEMS (Milepost 0.45)				\$562,980.00		* \$517,164.00		\$1,058,220.00		\$403,574.00
	Hawaii Products Preference	SECULIAR PRINCIPAL PRINCIP			\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS	ANNUAL ACTIONS IN THE PARTY PROPERTY PARTY.			\$562,980.00		* \$517,164.00		\$1,058,220.00		\$403,574.00
	Project Manager: Fred Reyes Date: June 27, 2007						* Corrected for Max Allowable Mobiliza	1			
										Sheet No.	2 of 9 Sheets

PROJECT:	PROJECT: Kaumualii Highway Emergency Repairs and Slope Stabilization at Various Locations		Locations								
PROJECT N	O.: HWY-K-06-07									OT A TE	- OE HAMAH
ISLAND: Ka	nuai DISTRICTS: Lihue and Koloa	** NOTE:		PROMETHEUS		EARTHWOF	RKS PACIFIC, INC.	GOODFELI	_OW BROS., INC.	DEPA	OF HAWAII RTMENT OF
DATE ADVE	DATE ADVERTISED: Internet Posting - May 30, 2007		Quantities shown in		CONSTRUCTION						SPORTATION AYS DIVISION
BIDS OPEN	BIDS OPENED: June 21, 2007										
COMPLETIC	ON TIME: One Hundred Eighty (180) Calendar Days	house use only.									
ITEM NO.	ITEM NO. ITEM		UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
TILININO.		QUANTITY				0111111101	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	ONTITROL	AMOUNT	OWNTRIOL	Amooni
	MILEPOST 5.7 (KAUMUALII HWY.)										
201.1000	Clearing and Grubbing	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$50,000.00	L.S.	\$64,000.00	L.S.	\$60,000.00
203.1000	Roadway Excavation	240 Cu. Yd.	Cu. Yd.	\$500.00	\$120,000.00	\$200.00	\$48,000.00	\$266.00	\$63,840.00	\$225.00	\$54,000.00
208.1000	Leveling Surfaces	F.A.	F.A.	F.A.	\$42,000.00	F.A.	\$42,000.00	F.A.	\$42,000.00	F.A.	\$42,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$30,000.00	L.S.	\$24,500.00	L.S.	\$8,000.00
209.2000	of BMP Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00
629.1000	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	1,100 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$16,000.00	L.S.	\$12,000.00	L.S.	\$4,400.00
629.2000	Double 4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	1,100 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$8,000.00	L.S.	\$9,200.00	L.S.	\$11,000.00
629.4000	Type C Raised Pavement Marker	55 Each	L.S.	L.S.	\$100.00	L.S.	\$1,000.00	L.S.	\$1,400.00	L.S.	\$825.00
629.5000	Type D Raised Pavement Marker	55 Each	L.S.	L.S.	\$5,000.00	L.S.	\$1,000.00	L.S.	\$1,400.00	L.S.	\$825.00
641.1000	Hydro-Mulch Seeding	11,170 Sq. Ft.	L.S.	L.S.	\$10,000.00	L.S.	\$18,000.00	L.S.	\$13,200.00	L.S.	\$16,755.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$15,000.00	L.S.	\$30,000.00	L.S.	\$344,000.00	L.S.	\$45,000.00
645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00
648.1000	Field Posted Drawings	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$2,500.00	L.S.	\$3,000.00
659.1000	Erosion Control Mat	11,170 Sq. Ft.	Sq. Ft.	\$6.00	\$67,020.00	\$8.00	\$89,360.00	\$11.10	\$123,987.00	\$4.00	\$44,680.00
			333300			10.00				Sheet No.	3 of 9 Sheets

PROJECT: P	ROJECT: Kaumualii Highway Emergency Repairs and Slope Stabilization at Various Locations										
PROJECT NO	D.: HWY-K-06-07									STATI	E OF HAWAII
ISLAND: Ka	Manage of the contract of the	** NOTE: Quantities		PROMETHEUS CONSTRUCTION		EARTHWO	RKS PACIFIC, INC.	GOODFEL	LOW BROS., INC.	DEPA	RTMENT OF SPORTATION
DATE ADVE	DATE ADVERTISED: Internet Posting - May 30, 2007										AYS DIVISION
BIDS OPENED: June 21, 2007		this column are for in-									
COMPLETIO		house use only.									
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
659.2000	Earth Anchors for Erosion Control Mat (4' Long)	1,050 Each	Each	\$100.00	\$105,000.00	\$110.00	\$115,500.00	\$235.00	\$246,750.00	\$65.00	\$68,250.00
671.1000	Rock Slope Scaling	F.A.	F.A.	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00
671.2000	Additional Scaling Cost	L.S.	L.S.	L.S.	\$24,000.00	L.S.	\$35,000.00	L.S.	\$102,000.00	L.S.	\$8,000.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$39,000.00	L.S.	* \$44,386.00	L.S.	\$80,000.00	L.S.	\$18,381.00
	SUM OF ALL ITEMS (Milepost 5.7)	nema nema nema nema nema nema nema nema			\$518,120.00		* \$573,246.00		\$1,173,777.00		\$428,116.00
Total Control of the	Hawaii Products Preference	and the state of t			\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS				\$518,120.00		* \$573,246.00		\$1,173,777.00		\$428,116.00
	Project Manager: Fred Reyes Date: June 27, 2007						* Corrected for Max Allowable Mobiliza				
<u> </u>			1000	****		***************************************				Sheet No.	4 of 9 Sheets

PROJECT:	ROJECT: Kaumualii Highway Emergency Repairs and Slope Stabilization at Various Locations										
ISLAND: Ka DATE ADVE BIDS OPEN	PROJECT NO.: HWY-K-06-07  ISLAND: Kauai DISTRICTS: Lihue and Koloa  DATE ADVERTISED: Internet Posting - May 30, 2007  BIDS OPENED: June 21, 2007  COMPLETION TIME: One Hundred Eighty (180) Calendar Days		** NOTE: Quantities shown in this column are for in- house use only.		PROMETHEUS CONSTRUCTION		RKS PACIFIC, INC.	GOODFELI	LOW BROS., INC.	DEPA TRANS	E OF HAWAII RTMENT OF SPORTATION AYS DIVISION
			UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	LINIT DDICE	ANACUINT	LINIT DDIOC	ANACHAT
ITEM NO.	ITEM  MILEPOST 9.8 (KAUMUALII HWY.)	QUANTITY	ONIT USED	UNII TRICE	VIAIOOIAI	OMITERIOE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.1000	Clearing and Grubbing	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$55,000.00	L.S.	\$100,000.00	L.S.	\$70,000.00
202.1000	Removal of Existing Chain Link Fence	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$5,000.00	L.S.	\$4,500.00	L.S.	\$8,000.00
203.1000	Roadway Excavation	180 Cu. Yd.	Cu. Yd.	\$500.00	\$90,000.00	\$100.00	\$18,000.00	\$520.00	\$93,600.00	\$225.00	\$40,500.00
208.1000	Leveling Surfaces	F.A.	F.A.	F.A.	\$46,000.00	F.A.	\$46,000.00	F.A.	\$46,000.00	F.A.	\$46,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$30,000.00	L.S.	\$52,000.00	L.S.	\$8,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00
607.1000	6-Feet Chain Link Fence	200 L.F.	L.S.	L.S.	\$35,000.00	L.S.	\$8,000.00	L.S.	\$7,800.00	L.S.	\$15,000.00
629.1000	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	1,520 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$15,000.00	L.S.	\$15,500.00	L.S.	\$6,080.00
629.2000	Double 4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	1,680 L.F.	LS.	L.S.	\$3,000.00	L.S.	\$8,000.00	L.S.	\$11,800.00	L.S.	\$16,800.00
629.3000	8-Inch Wide Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	30 L.F.	L.S.	L.S.	\$100.00	L.S.	\$1,000.00	L.S.	\$1,800.00	L.S.	\$240.00
629.4000	Type C Raised Pavement Marker	160 Each	L.S.	L.S.	\$100.00	L.S.	\$1,000.00	L.S.	\$1,800.00	L.S.	\$1,140.00
629.5000	Type D Raised Pavement Marker	160 Each	L.S.	L.S.	\$5,000.00	L.S.	\$1,000.00	L.S.	\$1,800.00	L.S.	\$1,260.00
641.1000	Hydro-Mulch Seeding	20,130 Sq. Ft.	L.S.	L.S.	\$10,000.00	L.S.	\$30,000.00	L.S.	\$26,400.00	L.S.	\$30,195.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$15,000.00	L.S.	\$30,000.00	L.S.	\$397,000.00	L.S.	\$45,000.00
<u> </u>							W-1-1			Sheet No.	5 of 9 Sheets

PROJECT:	Kaumualii Highway Emergency Repairs and Slope Stabiliza	tion at Various	Locations								
PROJECT NO	D.: HWY-K-06-07  uai DISTRICTS: Lihue and Koloa	** NOTE: Quantities	-		METHEUS STRUCTION	EARTHWORKS PACIFIC, INC.		GOODFELI	LOW BROS., INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
DATE ADVERTISED: Internet Posting - May 30, 2007  BIDS OPENED: June 21, 2007  COMPLETION TIME: One Hundred Eighty (180) Calendar Days		shown in this column are for inhouse use only.								HIGHWAYS DIVISION	
ITEM NO.	ITEM NO. ITEM		UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00
648.1000	Field Posted Drawings	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$2,500.00	L.S.	\$3,000.00
659.1000	Erosion Control Mat	20,130 Sq. Ft.	Sq. Ft.	\$5.00	\$100,650.00	\$8.50	\$171,105.00	\$8.30	\$167,079.00	\$4.00	\$80,520.00
671.1000	Rock Slope Scaling	F.A.	F.A.	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00
671.2000	Additional Scaling Cost	L.S.	L.S.	L.S.	\$24,000.00	L.S.	\$75,000.00	L.S.	\$97,700.00	L.S.	\$8,000.00
672.1000	Draped Wire Mesh System	14,980 Sq. Ft.	Sq. Ft.	\$10.00	\$149,800.00	\$15.00	\$224,700.00	\$11.10	\$166,278.00	\$12.00	\$179,760.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$49,000.00	L.S.	* \$67,480.50	L.S.	\$85,000.00	L.S.	\$51,350.00
	SUM OF ALL ITEMS (Milepost 9.8)			***************************************	\$630,650.00		* \$831,285.50		\$1,321,557.00		\$653,845.00
	Hawaii Products Preference			The state of the s	\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS				\$630,650.00		* \$831,285.50		\$1,321,557.00		\$653,845.00
Project Manager: Fred Reyes Date: June 27, 2007							* Corrected for Maxi Allowable Mobiliza	1			
		1			H-H	H&&	W			Sheet No.	6 of 9 Sheets

PROJECT:	Kaumualii Highway Emergency Repairs and Slope Stabiliz	ation at Various	Locations								CONTROL Plant
PROJECT N	O.: HWY-K-06-07									STATE OF HAWAII	
ISLAND: Ka	auai DISTRICTS: Lihue and Koloa	** NOTE: Quantities		PROMETHEUS		EARTHWO	RKS PACIFIC, INC.	GOODFEL	LOW BROS., INC.	DEPA	RTMENT OF
DATE ADVERTISED: Internet Posting - May 30, 2007		shown in this column		CONSTRUCTION							SPORTATION AYS DIVISION
BIDS OPEN	BIDS OPENED: June 21, 2007										
COMPLETIC	ON TIME: One Hundred Eighty (180) Calendar Days	house use only.			;						
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	MILEPOST 10.7 (KAUMUALII HWY.)										
201.1000	Clearing and Grubbing	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$50,000.00	L.S.	\$100,000.00	L.S.	\$70,000.00
203.1000	Roadway Excavation	260 Cu. Yd.	Cu. Yd.	\$400.00	\$104,000.00	\$200.00	\$52,000.00	\$620.00	\$161,200.00	\$225.00	\$58,500.00
208.1000	Leveling Surfaces	F.A.	F.A.	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$30,000.00	L.S.	\$38,000.00	L.S.	\$8,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00	F.A.	\$4,000.00
304.1000	Aggregate Base	93 Ton	Ton	\$700.00	\$65,100.00	\$250.00	\$23,250.00	\$825.00	\$76,725.00	\$220.00	\$20,460.00
401.1000	HMA Pavement, Mix No. IV	51 Ton	Ton	\$700.00	\$35,700.00	\$725.00	\$36,975.00	\$745.00	\$37,995.00	\$650.00	\$33,150.00
607.1000	6-Feet Chain Link Fence	175 L.F.	L.S.	L.S.	\$25,000.00	L.S.	\$7,000.00	L.S.	\$6,800.00	L.S.	\$13,125.00
629.1000	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	740 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$15,000.00	L.S.	\$10,800.00	L.S.	\$2,960.00
629.2000	Double 4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	740 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$8,000.00	L.S.	\$8,000.00	L.S.	\$7,400.00
629.4000	Type C Raised Pavement Marker	37 Each	L.S.	L.S.	\$100.00	L.S.	\$1,000.00	L.S.	\$1,100.00	L.S.	\$555.00
629.5000	Type D Raised Pavement Marker	37 Each	L.S.	L.S.	\$5,000.00	L.S.	\$1,000.00	L.S.	\$1,100.00	L.S.	\$555.00
641.1000	Hydro-Mulch Seeding	30,960 Sq. Ft.	L.S.	L.S.	\$10,000.00	L.S.	\$50,000.00	L.S.	\$37,400.00	L.S.	\$46,400.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$45,000.00	L.S.	\$538,600.00	L.S.	\$45,000.00
			IIIIII WAATEMOO MEESTAMA KAA OO ISMAA EARISI AA EM		· · · · · · · · · · · · · · · · · · ·	reference of the second				Sheet No.	7 of 9 Sheets

PROJECT:	Kaumualii Highway Emergency Repairs and Slope Stabiliza	tion at Various	Locations							CONTRACTOR	
PROJECT N	O.: HWY-K-06-07									STATI	E OF HAWAII
ISLAND: Ka	100, 5,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,	** NOTE: Quantities			METHEUS	EARTHWORKS PACIFIC, INC.		GOODFELLOW BROS., INC.		DEPARTMENT OF TRANSPORTATION	
DATE ADVE	RTISED: Internet Posting - May 30, 2007	shown in this column		CONSTRUCTION							AYS DIVISION
BIDS OPEN	BIDS OPENED: June 21, 2007										
COMPLETION	COMPLETION TIME: One Hundred Eighty (180) Calendar Days		:					:			
ITEM NO.	ITEM	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00
648.1000	Field Posted Drawings	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$5,000.00	L.S.	\$3,000.00
659.1000	Erosion Control Mat	30,960 Sq. Ft.	Sq. Ft.	\$6.00	\$185,760.00	\$8.00	\$247,680.00	\$8.40	\$260,064.00	\$4.00	\$123,840.00
659.2000	Earth Anchors for Erosion Control Mat (4' Long)	1,790 Each	Each	\$100.00	\$179,000.00	\$110.00	\$196,900.00	\$235.00	\$420,650.00	\$65.00	\$116,350.00
671.1000	Rock Slope Scaling	F.A.	F.A.	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00	F.A.	\$24,000.00
671.2000	Additional Scaling Cost	L.S.	L.S.	L.S.	\$24,000.00	L.S.	\$30,000.00	L.S.	\$133,000.00	L.S.	\$8,000.00
673.1000	Anchored Wire Mesh System	11,860 Sq. Ft.	Sq. Ft.	\$40.00	* \$474,400.00	\$33.00	\$391,380.00	\$39.00	\$462,540.00	\$35.00	\$415,100.00
673.2000	Supplemental (Short) Anchors	32 Each	Each	\$400.00	\$12,800.00	\$500.00	\$16,000.00	\$2,200.00	\$70,400.00	\$600.00	\$19,200.00
694.1000	Portable Concrete Barrier	28 Each	Each	\$8,000.00	\$224,000.00	\$2,000.00	\$56,000.00	\$3,800.00	\$106,400.00	\$3,000.00	\$84,000.00
694.2000	Inertial Barrier System	2 Each	Each	\$6,000.00	\$12,000.00	\$7,500.00	\$15,000.00	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$142,000.00	L.S.	* \$127,418.50	L.S.	\$200,000.00	L.S.	\$97,239.50
	SUM OF ALL ITEMS (Milepost 10.7)				* \$1,674,860.00		* \$1,504,603.50		\$2,790,774.00		\$1,285,834.50
	Hawaii Products Preference				\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS				* \$1,674,860.00		* \$1,504,603.50		\$2,790,774.00		\$1,285,834.50
	Project Manager: Fred Reyes Date: June 27, 2007				* Corrected		* Corrected for Maxi Allowable Mobiliza				
***************************************					The state of the s		THE STATE OF THE PARTY OF THE P			Sheet No.	8 of 9 Sheets

PROJECT:	Kaumualii Highway Emergency Repairs and Slope Stabili	ization at Various	s Locations								
PROJECT N	O.: HWY-K-06-07										E OF HAWAII
ISLAND: Ka	uai DISTRICTS: Lihue and Koloa	** NOTE: Quantities		PROMETHEUS CONSTRUCTION		EARTHWO	RKS PACIFIC, INC.	GOODFELL	.OW BROS., INC.		RTMENT OF SPORTATION
DATE ADVE	DATE ADVERTISED: Internet Posting - May 30, 2007										AYS DIVISION
BIDS OPEN	BIDS OPENED: June 21, 2007										
COMPLETIC	ON TIME: One Hundred Eighty (180) Calendar Days	house use only.									
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SUMMARY										
	SUM OF ALL ITEMS (Milepost 0.45)				\$562,980.00		* \$517,164.00		\$1,058,220.00		\$403,574.00
	SUM OF ALL ITEMS (Milepost 5.7)				\$518,120.00		* \$573,246.00		\$1,173,777.00		\$428,116.00
	SUM OF ALL ITEMS (Milepost 9.8)				\$630,650.00		* \$831,285.50		\$1,321,557.00		\$653,845.00
	SUM OF ALL ITEMS (Milepost 10.7)				* \$1,674,860.00		* \$1,504,603.50		\$2,790,774.00		\$1,285,834.50
	SUM OF ALL MILEPOST				* \$3,386,610.00		* \$3,426,299.00		\$6,344,328.00		\$2,771,369.50
	Hawaii Products Preference	:			\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS				* \$3,386,610.00		* \$3,426,299.00		\$6,344,328.00		\$2,771,369.50
	Project Manager: Fred Reyes Date: June 27, 2007				* Corrected		Corrected for Maxi Allowable Mobiliza	- 1			
										Sheet No.	9 of 9 Sheets